3.2.3
3.2.3

44

3.2.3

(k)

7.

6 8.8

13.

17.

17.

17.

18.

20.

18.

19.

19.

20.

20.

20.

22.

23.

23.

clo|lr|lo| x| ]|r

24.

A |0 | O |]0W|O0WW|[|O|H|O| O |

.0 0.2

.0 0.8

- 24 -




7 11km 13
km 17 km

- 25 -



8.0k (8=1/2,000)
6.0m

6.0m

BRI R E

& =

HWL 6.35m . Mo 2y

KT — —=
R IK B AL
| | | TeETEE TR
0 50 100 150 200 250
< g Sl
L 151
DO0RD B
KK HLTE
1ZBh R
10.2k (S=1/2,000)
6.0m
5
( HWL 7.65m ¢
1ZBh R
| | | | |
300 350 400 450 500 N Tty N
6.0m
uE'g >
HWL E
X3. 2.

4 (1) TERBAOFHEENA A — SR
GHEEHREDECS L TERT 52 £055)




13.6k (S=1/2,000)
6.0m 6.0m
HWL 10.47m "‘
K43z , T
EYES T + X% ‘
— raomsE | Pﬂ%ﬁ#ﬁ%t¥ﬁ%ﬁ49ﬁ7?ﬁ?77ﬁ%
| | | | | | |
0 50 100 150 200 250 300
L 151 _
DODD ALK _
Wi SN =
|[HigfiE
17.6k (S=1/2,000)
6.0m 6.0m
— |- —> [
N EE E
S , e HWL 13.61m é{
& wywﬁmﬂd:tmxzyw yng%d%& “é; T g B 7k 11"L 4'_/¢,_/
Iﬁkiﬁif 7 ﬁykﬂgtvrmm e .
| | |
300

\ | |
100 150 200 250

50
* BT ER

K3. 2. 4 (2) TELGHSOEREEA A —CF
(GHEEM R EDEICSECTEET S L HB)



19.0k (S=1/2,000)
6.0m - 4$__¢§Dm
S g5 IS
|HiR = B X ]
a HWL 15.45m =
K AL
r———— 7@7ﬁ%—————ﬂ
g 5% 1$o 120 2go 220 sgo N
DRSS BAKIR
7K B HE IS
BRI =
20.8k (S=1/2,000)
som )1, IR IR | [Eom
x &
&5 £ HWL 17.46m Fi
= o, F kb
EKERILE

o REEE TR
| | | |
0 50

| |
150 200

F— fum ' B
|

250 300 350

®3. 2. 4 (3) FELGHMFADFTE#EEA A —DR
GTE#ERRIBDBRICSISCTERT S E0H D)




22.8k (S=1/2,000)

BIARLER &

6.0m}<
HWL 20.41m ’7«; DR Vi i bk ook afiielid
TR o 1
\_fEKER TR
| whavess | <47EE |
| | | | | | |
0 50 100 150 200 250 300
WS EN
24.6k (S=1/2,000)
BAREER
5 6.0m
HWL 22.450m iiv
F kg —
1E 7K B YA 12
| | | | | | | | |
50 100 150 200 250 300 350 400 450
AX - £/ iR | YHTEEE

3. 2. 4 (4) XELGHM[DFTEEEA A -
GE#EHHERIDEISECTERET S0 HH)



—0g —

0. 45k (S=1/600)

6.0 m
. -

A

1.5m

ke Fig

M3. 2. 4 (5) XELGMFADEFTEENA A —H
GtE#EMBRIELEICIECTEET S E0H D)

L f
EiE
EH|




